ESARA

Japanese Technology since 1912

3 SERIES Data Book 50Hz




CENTRIFUGAL PUMPS

3 SERIES

CONTENTS

S50Hz

- SPECIFICATION

SPECIFICATION
SPECIFICATION
SPECIFICATION
PERFORMANCE RANGE
SELECTION CHART
TYPE KEY

PERFORMANCE CURVE SPECIFICATIONS

MEI INDEX SPECIFICATIONS
MEI INDEX VALUE
PERFORMANCE CURVE 32-125
PERFORMANCE CURVE 32-160
PERFORMANCE CURVE 32-200
PERFORMANCE CURVE 40-125
PERFORMANCE CURVE 40-160
PERFORMANCE CURVE 40-200
PERFORMANCE CURVE 50-125
PERFORMANCE CURVE 50-160
PERFORMANCE CURVE 50-200
PERFORMANCE CURVE 65-125
PERFORMANCE CURVE 65-160
PERFORMANCE CURVE 65-200
PERFORMANCE CURVE 65-250
PERFORMANCE CURVE 80-160
PERFORMANCE CURVE 80-200
PERFORMANCE CURVE 80-250

- CONSTRUCTION
SECTIONAL VIEW DRAWING 3(.)M 32, 40, 50, 65-125/160/200
SECTIONAL VIEW TABLE 3(.)M 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LMZ 32, 40, 50, 65-125/160/200
SECTIONAL VIEW TABLE 3LMZ 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LM 80-160/11

SECTIONAL VIEW DRAWING 3LM 80-160/15R/15/18.5
SECTIONAL VIEW TABLE 3LM 80-160

SECTIONAL VIEW DRAWING 3(.)S 32, 40, 50

SECTIONAL VIEW DRAWING 3(.)S 65-125/160/200
SECTIONAL VIEW TABLE 3(.)S 32, 40, 50, 65-125/160/200

Rev. Al

Page

200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223
224

300
301
302
303
304
305
306
307
308
309

SECTIONAL VIEW DRAWING 3LSZ 32, 40-125/160, 40-200/5.5/7.5

50-125/160, 50-200/9.2, 65-125, 65-160/7.5/9.2
SECTIONAL VIEW DRAWING 3LSZ 40-200/11,
50-200/11/15, 65-160/11/15, 62-200

SECTIONAL VIEW TABLE 3LSZ 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LS 80-160

SECTIONAL VIEW TABLE 3LS 80-160

310

311
312
313
314

100

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONTENTS S50Hz
Rev. Al
SECTIONAL VIEW DRAWING 3LS 65-250, 80-200/250 315
SECTIONAL VIEW TABLE 3LS 65-250, 80-200/250 316
SECTIONAL VIEW DRAWING 3(.)P 32, 40, 50, 65-125/160/200 317
SECTIONAL VIEW TABLE 3(.)P 32, 40, 50, 65-125/160/200 318
SECTIONAL VIEW DRAWING 3LP 80-160 319
SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250 320
SECTIONAL VIEW DRAWING 3LP 65-250, 80-160/200/250 321
SECTIONAL VIEW TABLE 3LP 80-160 322
SECTIONAL VIEW TABLE 3LP 65-250, 80-200/250 323
BEARINGS 3(.)M 324
BEARINGS 3(.)S-3(.)P 325
MECHANICAL SEAL (standard, H and special version) 326
MECHANICAL SEAL (L version g 22) 327
MECHANICAL SEAL (L version g 30-35) 328
MECHANICAL SEAL (HS version and special version g 22) 329
MECHANICAL SEAL (HS version g 30) 330
MECHANICAL SEAL (HW, HSW, E and special version) 331
MECHANICAL SEAL (ES version) 332
FLUID TEMPERATURE RANGE 333
COUPLING 334
FLEXIBLE COUPLING 335
FITTINGS 336
FITTINGS 337
- DIMENSIONS

DIMENSIONS 3(.)M 32, 40, 50, 65-125/160 400
DIMENSIONS 3(.)M 50-200, 65-160/15, 65-200 401
DIMENSIONS 3LMZ 32, 40, 50-125/160/200/9.2/11,
65-125/160/7.5/9.2/11 402
DIMENSIONS 3LMZ 50-200/15, 65-160/15, 65-200 403
DIMENSIONS 3LM 80-160/11 404
DIMENSIONS 3LM 80-160/15R/15/18.5 405
DIMENSIONS 3(.)S 32, 40, 50 406
DIMENSIONS 3(.)S 32, 65 407
DIMENSIONS 3(.)S 40, 50, 65 408
DIMENSIONS 3(.)S 32, 40, 50, 65 409
DIMENSIONS 3LSZ 32-125/160, 32-200/3/4,

50-125/2.2, 65-125/4 410

DIMENSIONS 3LSZ 32-200/5.5/7.5, 40-125/160, 40-200/5.5/7.5,
50-125/3/4, 50-160 50-200/9.2, 65-125/5.5/7.5, 65-160/7.5/9.2 411
DIMENSIONS 3LSZ 40-200/11, 50-20011/15,

65-160/11/15, 65-200 412
DIMENSIONS 3LS 80-160 413
DIMENSIONS 3LS 65-250, 80-200/250 414
DIMENSIONS 3LS 80-200/30/37, 80-250/45 415
DIMENSIONS 3LS 80-250/55 416
DIMENSIONS 3(.)P 32, 40, 50, 65 417

101

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONTENTS 50Hz

Rev. Al
DIMENSIONS TABLE 3(.)P 32, 40, 50, 65 418
DIMENSIONS 3LP 65-250,80 419
DIMENSIONS 3LP 80-200/30/37, 80-250/45 420
DIMENSIONS 3LP 80-250/55 421
PACKING 3(.)M 422
PACKING 3(.)S 423
PACKING 3(.)P 424

- TECHNICAL DATA

MOTOR DATA 3(.)M 500
MOTOR DATA 3(.)S-3(.)P 501
NOISE DATA 3(.)M 502
NOISE DATA 3(.)S-3(.)P 503

102

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION

S50Hz

Rev. Al

w
=
W
(7]
w
U

Version

3LM

3LMZ 3LS 3LSZ 3LP

32-125

32-160

32-200

40-125

40-160

40-200

50-125

50-160

Pump sizes 50200

65-125

65-160

65-200

SISO IO (T OO (T (O (T
SISO O (T OO [T

65-250

80-160

80-200

80-250 - - -

A K AN BN IK AN BN K BN BN K BK BN BK Y J
> o &6 0600 060606 6o oo o oo

B Available also with H, HS, HW, HSW, E, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG, U3U3CEGG version.

U3U3EGG not available for model 65-160/15 and 65-200

® Available also with H, HW, HSW, E, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG, U3U3EGG version.

U3U3EGG available for model 32, 40, 50, 65-125 and 65-160/7.5/9.2/11

A Available also with H, HW, HSW, ES, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG version.

=— Not available.

O Available only standard version.

200

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION

S50Hz

Rev. Al
PUMP
Version 3M 38 3P [ 3Lm2) 3LS(2) 3LP
Clean water and moderately aggressive fluids
Type of liquid / Drinking water and water contains glycol for
Liquid E and ES version
Handled min. -10
Temperature [°C] max. +120
For full details see section “FLUID TEMPERATURE RANGE” on pag.333
Maximum working pressure [MPa] 1
Closed centrifugal type for 32, 40, 50 version
Impeller Reinforced laser welding for 40-200/11, 50-200/15
. Closed centrifugal three dimensional blades for 65 and 80 version
Construction - - - -
. Mechanical seal with stationary ring
Shaft seal type Mechanical seal ; -
secured against rotation
Bearing Sealed ball bearing
32-125/160/200 Flange DN50 according EN1092-1 Standard
40-125/160/200 .
Suction 50-125/160/200 Flange DN65 according EN1092-1 Standard
65-125/160/200/250 Flange DN80 according EN1092-1 Standard
Pipe 80-160/200/250 Flange DN100 according EN1092-1 Standard
Connection 32-125/160/200 Flange DN32 according EN1092-1 Standard
40-125/160/200 Flange DN40 according EN1092-1 Standard
Discharge 50-125/160/200 Flange DN50 according EN1092-1 Standard
65-125/160/200/250 Flange DN65 according EN1092-1 Standard
80-160/200/250 Flange DN80 according EN1092-1 Standard
32-125/160/200
40-125/160/200
o 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
asing 65-125/160/200
65-250
80-160/200/250 / CF8M - EN 1.4408 (AISI 316)
32-125/160/200
40-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
| I 50-125/160/200
mpeiler 65-125/160/200 CF8M - EN 1.4408 (AISI 316)
65-250
80-160/200/250 / CF8M - EN 1.4408 (AISI 316)
32-125/160/200
40-125/160/200
Casi 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
asing cover 65-125/160/200
65-250
80-160/200/250 / CF8M - EN 1.4408 (AISI 316)
32-125/160/200 .
Material 20-125/160/200 Ceramic/Carbon/NBR
SiC/SiC/FPM (L version)
50-125/160/200 (For version see page 327+333)
Mechanical seal _65-125/160/200 (For version see page 327+333)
65-250
80-160/200 /
80-250 SiC/Carbon/EPDM (ES version) [2]
O-ring NBR [1] FPM [3]
32, 40, 50,
65-125 d=19
65-160/11
50-200/15 =20 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
65-160/15 _
Shaft 65-200 d=24
65-250 d=24 EN 1.4462 (Duplex stainless steel)
80-160 d=24
80200122 a4 / EN 1.4404 (AISI 316L)
80-200/30-37 d=24 .
80-250 d=29 EN 1.4462 (Duplex stainless steel)
Bracket Cast iron - Aluminium

Applicable standard of test

1SO 9906:2012 — Grade 3B

[1] FPM for H-HS-HW-HSW version / EPDM for Q1AEGG, U3U3EGG, Q1Q1EGG, Q1U3EGG, U3EGG
[2] ES option only for 80-250 2 poles @35
[3] EPDM for E-ES version and for Q1AEGG, U3SU3EGG, Q1Q1EGG, Q1U3EGG, U3CEGG

201

B Eaana

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION 50Hz
Rev. Al
MOTOR
3LM(Z) | 3()S(2) | 3()P
Type Electric - TEFC
Single Phase Three Phase
Efficiency level (Reg. 1781/2019) IE2 IE3
No. of Poles 2
Rotation speed [min"] ~ 2900
Insulation Class F | F (temperature rise class B)
Protection degree (CEI EN 60034-5) IP 55
Power rating [kW] 1.1+2.2 1.1 +22 1.1+55
[HP] 1.5+3.0 1.5+ 30 1.5+75
Frequency [Hz] 50
230/400 £10% (up to 4.0 kW
Voltage V] 230 £10% 400/690 +10% (5.2 KW and abo)ve)
Over load protection Provided by the user
Casing material Aluminium
Motor support Cast iron - Alluminium
PG13.5 M32x1.5
: . PG16 M40x1.5
Dimensions of cable entry M20x1.5 PG21 M50x1.5
M20x1.5, M25x1.5
3(.)S IMB5 (up to 2.2 kW)
Flange mount (IEC motor) / IMB35 (3 kW and above) | IM B3
3LSZ IM B35
202

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

SELECTION CHART S50Hz

Rev. Al

PERFORMANCE RANGE

u.S.q.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
| | | | I O | I O | | | | | | | |
I I [ I 1T 11 [ T T [ [ [ [ [ [ [ I
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
120
— 350
100
EEE - 300
65-250,/37 [T 39
H 80 . n= SRR 35 250 H
65\2 T~ NONROL
—— — 50/30 gj N
[m] P L L L 0 ~ [T N N ‘ﬁ %5 [ft]
o e oy e Sl S G
| N [ LS5 3 65 D D
e et
o T T e el [ T 1 0 TN
“=200/4.0 ~L | N ngF/}LSKb\\‘JFO\?O V. \200/@5\ h Za\\ 150
R : )
oL L N ) N/—i’%{ NS AN
32-200/59 - / N o7 AN, 2N
‘ L 200/ D) 6. SION- 2N
3 00 ~C NG NN TN 2
2\750/22 fg L N o % N
30 —— X7y D ‘5\’5%0// o SN — 100
. 740N OIRETENG NS RN
D s SEE N NG NN
~160/1.5 N DN TN N
) T f N RS NG VT\ 75
N 0. TN, 60 NN NN\
20 — e R / % DN 2N NEEACAAN
32—~ 2 /\fo | -~ T O O\\J‘
125/1 TR N 2NGN NN NV NNV
IN 7z T X
e 2N ) [ 2N A\ AN
15 N N < \/ N /‘%&Aﬁ \% %/l 2 u;’\, — 50
\ A YN\ =
( N N NN 2\
\ K, N BN \ >\ 40
/ N RN o\ &N
10 [ o\ NS %«\
°N'% )
9 { o N ,/ - 30
: \ \/ /
— 25
7 /
[ / [
‘ / / / / /
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
[ [ [T T I I [T T [ [ I [ I [ [ [ [ |
6 7 8 910 12 14 16 18 20 25 30 40 50 60 70 100 150 200 300
Q [m /h]

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

SELECTION CHART S50Hz

Rev. Al

SELECTION CHART

3 SERIES: 32, 40, 50 Version

Pump type I/min 0 | 100 | 150 | 200 | 300 | 333 | 360 400 450 500 600 700 800 | 1000 | 1200
m*h 0 6 9 12 18 20 22 24 27 30 36 42 48 60 72

32-125/1.1(M) * 225 21 | 199|184 | 141 12 - - - - - - - - -
32-160/1.5(M) * 29.5| 28 | 265|245 | 19.2 17 - - - - - - - - -
32-160/2.2(M) * 37/ 355 | 34 32 27 25 - - - - - - - - -
32-200/3.0 44| 42 40 | 375 31 28 - - - - - - - - -
32-200/4.0 55/ 563.5| 52 | 49.5| 435 | 405 38 - - - - - - - -
32-200/5.5 70.5| 69 | 67.5| 65 | 58.5 - - - - - - - - - -
32-200/7.5 70.5| 69 | 675| 65 | 58,5 | 55.5 53 49 44 - - - - - -
40-125/1.5(M) * 20| - - 19 17.6 17 165 | 157 | 145 | 132 | 103 7 - - -
40-125/2.2(M) * 26.5| - - |1 255] 24 | 235 283 22 21 195 | 164 13 - - -
40-160/3.0 31 - - | 295| 275 | 27 | 265 | 255 24 225 20 17 - - -
40-160/4.0 40| - - | 385] 37 36 35,5 | 345 33 32 29 255 - - -
40-200/5.5 47| - - | 455 44 43 | 425 41 39.5 38 35 31 - - -
40-200/7.5 58| - - 57 | 55.5 55 545 | 53.5 | 52.5 51 47.5 44 - - -
40-200/11 72| - - 71 70 70 69.5 | 68.5 | 67.5 66 63 59 - - -
50-125/2.2(M) * 19 - - - - - - 17.5 17 16.3 | 149 | 134 | 117 8 -
50-125/3.0 22,7 - - - - - - 21,7 | 214 21 19,9 | 185 | 16,9 | 13,3 9,5
50-125/4.0 26.5| - - - - - - 26 25.5 25 24 225 | 215 | 179 14
50-160/5.5 33| - - - - - - 31 30.5 30 28.5 27 25.5 22 18
50-160/7.5 40| - - - - - - 38.5 38 375 36 35 33.5 30 26
50-200/9.2 53| - - - - - - - - 50 49 47.5 | 455 | 405 34
50-200/11 59| - - - - - - - - 56 55 54 52 48 42
50-200/15 72| - - - - - - - - 70 69 68 66 62 57

* Single phase version only for 3M type

3 SERIES: 65, 80 Version

PUmp tyPe 1 i 0] 600 | 700 | 900 | 1300 | 1500] 1700 | 1900 | 2100 | 2200 | 2300 | 2400 | 2500 | 3000 | 3400 | 3600 | 3800 | 4000
mh 0] 36 | 42 [ 54 | 78 | 90 | 102 | 114 [ 126 | 132 | 138 | 144 | 150 | 180 | 204 | 216 | 228 | 240
65-125/4.0 222[198] 19 [173] 183 ] 11 | 86 | 63 | - - 1 - - - - - - -
65-125/5.5 27 - [ 24 [222] 18 |157] 133 | 108 | 8 - - - - - - - -
65-125/7.5 32| - [295|278] 235 | 211 187 | 161 | 134 | 12 | - | - - - - - - -
65-16017.5 32| - | 30 [286] 248 [225] 199 | 171 | 142 | - - - - - - - -
65-160/9.2 365] - | 345|328 288 | 265] 230 | 211 | 183 | 168 | - | - - - - - - -
65-160/11 405] - |385|37.1] 331 | 309 284 | 258 | 23 | 215 | 20 | - - - - - - -
65-160/15 48] - |455] 44 | 40 | 378 353 | 326 | 296 | 28 | 265 | - - - - - - -
65-200/15 535] - | 51 | 49 | 44 |415] 384 | 363 | 318 30 | - | - - - - - - -
65-200/18.5 60.5] - |585|565] 515 | 49 | 46 | 43 | 39.7 | 38 | 363 | - - - - - - -
65-200122 67] - [655] 64 | 595 | 57 | 54 | 51 | 48 | 465 | 45 | - - - - - - -
65-250/30 78] - | - | 77 | 735 71 | 68 | 645 ] 60 | 575 | 55 | 52 | - - - - - -
65-250/37 89| - | - | 86 | 855 | 83 | 805 | 775 | 74 | 72 | 70 | 675 | 65 | - - - - -
80-160/11 20 - | - | - | 273 |264| 254 | 242 | 23 | 224 | 218 | 21.1 | 204 | 164 | 125 | - - -
80-160/15R 32| - | - | - | 305 |297| 288 | 277 | 265 | 259 | 253 | 246 | 24 | 201 | 165 | 145 | - -
80-160/15 35| - | - | - | 34 |333| 325 | 315 | 305 | 30 | 294 | 2868 | 281 | 244 | 21 | 194 | 17 | -
80-160/18.5 4] - | - | - | 39 |84 376 | 367 | 357 | 352 | 347 | 341 | 335 | 30 | 264 | 244 | 223 | 20
50-200/22 50| - | - | - | 48 | 47 | 455 | 445 | 43 | 42 | 41 | 40 | 39 | 332 278 | 25 | - -
50-200/30 60| - | - | - | 585 58 | 57 | 56 | 545 | 54 | 53 | 52 | 51 | 465 | 415 | 39 | 36.1 | 33
80-200/37 66| - | - | - | 64 | 63 | 62 | 61 | 595 | 59 | 58 | 575 | 565 | 515 | 47 | 445 | 415 | 385
80-250/37 73 - | - | - | 715 | 705] 685 | 665 | 64 | 63 | 615 | 60 | 585 | 485 | 38 | - - -
50-250/45 8| - | - | - | 625|815 80 | 78 | 76 | 75 | 735 | 725 | 71 | 62 | 53 | 48 | 425 | -
80-250/55 95| - | - | - | 935|925 915 | 90 | 885 | 875 | 865 | 855 | 84 | 765 | 685 | 645 | 60 | 55

204

% EZARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS

3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS

S50Hz

TYPE KEY

Ls ]l Lo fm]z][H][eof-[re0o]/[15]RJ[M] [QIAEGG |

SPECIAL MECHANICAL SEALS

Q1AEGG

U3U3EGG

Q1QIEGG

SINGLE PHASE ONLY

REDUCED IMPELLER

POWER CODE

Q1U3EGG

U3CEGG

IMPELLER CODE

18.5

DISCHARGE SIZE

OPTIONS MECHANICAL SEAL

PUMP CASING WITHOUT FOOT (only for version 3LM and 3LS 32, 40, 50, 65-125/160/200)

MODEL TYPE

Tn|Z

For versions 32, 40, 50
65-125/160/200

AISI 304

AlSI 316L

| *

For versions 65-250 , 80

AISI 316

3 SERIES

*-) No indication

Rev. Al

205

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS

S50Hz

PERFORMANCE CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?/s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q volume flow rate

H total head

P2 pump power input (shaft power)

n pump efficiency
NPSH net positive suction head required by the pump
MEI minimum efficiency index

Rev. Al

206

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS S50Hz

Rev. Al

MEI INDEX SPECIFICATION

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean efficiency.
The minimum efficiency index is based on the hydraulic efficiency and on the head at the best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller diameter.
The trimming of the impeller will adapt the pump to a fixed duty point, leading to a reduced energy consumption.
The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variabile duty points may be more efficient end economical when
controlled, for example, by the use of a variable speed drive that matches the pump duty to the system.

MEI = 0.4 for ESCC 2900 rpm MEI = 0.7 for ESCC 2900rpm

N Y

/760

S

\\

\\\ \ \v /
N \
\. \ 2 O \\
\ N 10 7 \\\ 720
S \\ i . \\\ I 70,
N\ 2 g \\ 68.0
\\\ 70, § ) 66.
\\\\\ £ N\ 64.
NN o N .
N\ w 10' NN 58
AN 56.0 % %
\ 52.0 N
10 2 3 P 50 6 70 80 % 100 - 2.(; T - A - - s > =
specific speed ns [rpm] apeciic spesd e Fomi
MEI = 0.4 for ESOB 2900 rpm MEI = 0.7 for ESOB 2900rpm

\&Q\:;/C4/4%///

N 78,

\“53“”/ J)))))
)

S

specific speed ns [rpm]

207

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS S50Hz
Rev. Al
MEI INDEX VALUE
MEI VALUE
SIZE 3M 3S 3P
32-125 20.4 204 204
32-160 20.7 20.7 >0.7
32-200 20.6 20.6 >0.5
40-125 20.7 20.7 >0.6
40-160 20.7 20.7 >0.7
40-200 20.7 20.7 >0.7
50-125 20.4 204 204
50-160 20.7 20.7 >0.6
50-200 20.7 20.7 >0.7
65-125 20.7 20.7 >0.7
65-160 20.7 20.7 >0.6
65-200 20.7 20.7 >0.6
65-250 20.5 20.5 204
80-160 20.7 20.7 >0.7
80-200 20.5 20.5 204
80-250 20.7 20.7 >0.7
208

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE S50Hz

Rev. Al

32-125/1.1 — impeller diameter = 133 mm

0 US.gpm. 20 30 40 50 60 70 80 90 100
| ] ] ] ] ] | ] ] ] ]
| I I I I [ I I I
s 0 ImPgpm 20 30 40 50 60 70 80
80
H = H
= 70
[m] " ~—_ [ft]
)
~ST - 60
™
SN
15 N - 50
NG
Ny - 40
10
NPSH [~30
[m] [ft]
62|20
5 5
15
p— 4
NPSH —— ™ 311010
2
|5
0 0
0 50 100 150 200 250 300 350 Q [1/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3h)
16
P2 19
(kw] ™ 125/1.1
0.8 —"
0.4
0 50 100 150 200 250 300 350 Q [1/min]
70 T
‘r] - — T T T T
60 = ==—125/1.1
(7] " /
=
50 -
7
40
30
0 50 100 150 200 250 300 350 Q [1/min]

Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B

209

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
32-160/1.5 - impeller diameter = 151 mm
32-160/2.2 - impeller diameter = 166 mm
0 US.gp.m. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
| 1 T | I 1 | | T
0 Imp.g.p.m. 20 30 40 50 60 70 80
40 130
H —— 120 H
—~
[m] 35 ‘\\‘\ T y [t]
e,
N~
30— 100
i C
~ NG 90
™~ N
7
25 \\‘6\0/7, 5 t g0
NP |
20 ™
~. [m] [ft]
N 2560
+ 7
2
15 5 520
NPSH 3110
= 40
5
10
0 50 100 150 200 250 300 350 Q [I/min]
| I T I I T | 1 | | T | |
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3h]
2.4
——==—=160/2.2
°2 20 — ] | |/ |
kW —— -
[kW] 16 —— 160/1.5
1.2 — ]
0.8
0 50 100 150 200 250 300 350 Q [I/min]
70
: NEN
__— ~160,/2.2
[%] 60 P =160/1.5
==
50 =
40
0 50 100 150 200 250 300 350 Q [I/min]
Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B
210

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
32-200/3 — impeller diameter = 186 mm
32-200/4 — impeller diameter = 200 mm
32-200/5.5 — impeller diameter = 224 mm
32-200/7.5 — impeller diameter = 224 mm
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
0 |mp.g.p.|m. 2 30 1 50 60 70 80 % 100 o
80 - 260
H 240 H
[m] 70—+ e [ft]
St 220
™~
™~ 2
60 ™ 00/5—5 200
\\\
g s N 180
50 [~
~ 202 2y h ?0% L 160
o ‘
BRI N NPSH |-140
4 T ™~ [m] [ft]
20,
N Q/ég 8 s 120
1
A1 612
P L
30 \\' » 4__15 100
NPSH = 10
— 9 - 80
-5
20
0 50 100 150 200 250 300 350 400 450  Q [I/min]
[ | I | | I I I I I I I I I I 1
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m3h]
8
0, L] |/5‘ | L]
200/° .
) - 200/7.5
4 =T 200/4.0
200/3.0~
2 L 1 L L L
0 50 100 150 200 250 300 350 400 450  Q [I/min]
n“’ EEEEE [T17200/4.0 [TT]
50 %’ — 200/7‘5
(%] = 200/5.5 200/3.0
40 =
=
% L
20
0 50 100 150 200 250 300 350 400 450  Q [I/min]
Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B
211

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
40-125/1.5 - impeller diameter = 125 mm
40-125/2.2 - impeller diameter = 140 mm
0 US.gpm. 40 60 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
| I I I I [ I I I
© 0 Imp.g.p.m. 40 60 80 100 120 140 160
90
H ——t = H
m] 25 e~ g M
<20
™S 70
20 ——t
—~ N 60
Ny
15 = h 50
\\‘ NS
~SS
40
i NPSH
0 h [m] []] 30
N
,F®
2020
5 5115
NPSH - = 341010
1S
0 0
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I I I ]
0 4 8 12 16 20 24 28 32 36 40 44 Q [m3/h]
3
0, L[]
o 2 p—— 125/2.2 1
1 125/1.57 1
0
0 100 200 300 400 500 600 700 Q [I/min]
80
n = ~
— T~
[%] 70 = \ ~125/2.27
/ [ [ ]
60
d 125/15 | |
5 |1
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B
212

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
40-160/3 — impeller diameter = 151 mm
40-160/4 — impeller diameter = 166 mm
0 US.g.pm. 40 60 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
| I I I [ I I I
“ 0 Imp.g.p.m. 40 60 80 100 120 140 160
140
H H
m] 0T 130 [ft]
= 120
p n
35 \637/4.0
110
N
30 T == ™ —100
N
N~ N - 90
~%0,; N
% \‘;0\\ - 80
I NPSH [~70
20 ~ [m] [#t]
- 60
~N . Fn»
0
15 5 ~
NPSH . X :g
- 40
15
10
0 100 200 300 400 500 600 700 Q [I/min]
[ I | I I I I I I I I I 1
0 4 8 12 16 20 24 28 32 36 40 44 Q [m3h]
5
[ [ ]
P2 4 160,/4.04]
[kw] L —
3 —— 160/3.07]
2 = =
1
0 100 200 300 400 500 600 700 Q [I/min]
80
. 1]
- —160/4.0
[7] 70 = 160/3.07 |
-
60
=
50
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B
213

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
40-200/5.5 — impeller diameter = 183 mm
40-200/7.5 — impeller diameter = 200 mm
40-200/11 — impeller diameter = 224 mm
0 U.S.gp.m. 40 60 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
| I I I I [ I I I
% 0 Imp.g.p.m. 40 60 80 100 120 140 160
250
H T H
[m] 70 — -200/1 230 [ft]
T—
T~
= 210
60 S~
- 190
T~ 170
50 —
—_ s
i — ~ —150
~—2005
~=3.
40 = NPSH 130
~ [m] [ft]
o~
~_ T o
30 ~ 5 15
NPSH — " 310 —90
5
1 L
2 70
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I I I ]
0 4 8 12 16 20 24 28 32 36 40 44 Q[m3h]
12 T
Py 10 200/117
kw] 8 — — [
[kt] 6 —— 200/7.5
200/5.5—]
4 Ll
9 .
0 100 200 300 400 500 600 700 Q [I/min]
80 T
N 70 ] 200/7.5]
% —
(%] o e
50 200/5.5 =T |
40 200/11
30 L[|
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed = 2900 min-'!
Test standard: ISO 9906:2012 - Grade 3B
214

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
50-125/2.2 — impeller diameter = 126 mm
50-125/3 — impeller diameter = 131 mm
50-125/4 — impeller diameter = 140 mm
0 USgpm. 50 100 150 200 250 300 350
1 | ! 1 | | | |
| I [ I I | |
© 0 Impgpm. 50 100 150 200 250 300
H —— H
[m] 25 = p [ft]
v \25/4.0 %0
I
20 i 725, RN
_______\\\N Go \ w0
15 ~ 725 — \ N
\\ \\ 40
10 . N\
\
\ NPSH
[m] [ft]
6——20 20
> NPSH i
4
- — 3410
"] 2 5
1
0 0
0 200 400 600 800 1000 1200 Q [I/min]
l | | | | T |
0 10 20 30 40 50 60 70 Q [m¥/h]
6
!
P2 T I
125,/4.0 —
w4 — 9/4
T 125/3.0
2 = 125/2.2
i |
0 200 400 600 800 1000 1200 Q [I/min]
80
n L] \\
[%] 70 ] — -
= T~ 125/4.0 | |
=
60 ™ \\\ | [
125/2.2.°N125/3.0 |
50 [ | l
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed = 2900 min-'!
Test standard: ISO 9906:2012 - Grade 3B
215

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
50-160/5.5 — impeller diameter = 154 mm
50-160/7.5 — impeller diameter = 166 mm
0 US.gpm. 50 100 150 200 250 300 350
| ] ] ] ] ] | ]
I I I | I | I
5 0 Imp.gpm. 50 100 150 200 250 300
160
H
[m] 140 [
40 ==
™~ 6, L
- \0/2 5 120
——— \\
-~ ‘\
30 T~ 6 100
~—
\\\ NPSH 80
[m] [ft]
20 10
5 N e
620
NPSH — )
— DI pL S
10
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
8 T T
P, - 160/7.5—
— | L
o] ° —— /5
) — 160/5.5—]
/’
2
0 200 400 600 800 1000 1200 Q [I/min]
80
‘n J—
——— 160/7.5
(%] 70 — —
A 160/5.5 | |
7,
60 e~
50
0 200 400 600 800 1000 1200 Q [I/min]

Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
50-200/9.2 — impeller diameter = 191 mm
50-200/11 — impeller diameter = 200 mm
50-200/15 — impeller diameter = 224 mm
0 USgpm. 50 100 150 200 250 300 350
| ] ] ] ] ] | ]
I I I | I | I
0 Imp.gpm. 50 100 150 200 250 300
80 - 260
H ] 240 H
[m] 70 == 200/15 [ft]
- 220
T~
- 200
O T \\\'
= 2007 180
— 1 \ j\
50 = —1—-200/9 » 160
\\\
TN N
Iy NPSH |-140
P
40 ~— [m] [ft]
8- [ 120
620
30 - (s 100
NPSH — "
2__5 80
20
0 200 400 600 800 1000 1200 Q [1/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
18 —
P, i — 200/15-—
kW] A ]
12 ——— 200/11
——— 200/9.2 |
6 ——T
0 200 400 600 800 1000 1200 Q [1/min]
80
[%] 70 o — —
200/9.2 X —— t
60 200/11-5 2=
200/15
50 —
0 200 400 600 800 1000 1200 Q [1/min]
Rotation speed = 2900 min-'!
Test standard: ISO 9906:2012 - Grade 3B
217

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
65-125/4 — impeller diameter = 128 mm
65-125/5.5 — impeller diameter = 138 mm
65-125/7.5 — impeller diameter = 149 mm
0 US.g.p.m. 100 200 300 400 500 600 700
| ] ] ] ] ] | ]
I I I I I | I
w0 0 Imp.gpm. 100 200 300 400 500 600
y 120
[m] [t]
I T~ 100
—
==L Y
\\\/25/25 - 80
— -4 ~ ™
20 7
N ) 2%5 NS — 60
\‘\ \ “N
N7
~0%0 NS N P |
m] (ft] [T
N N Y [m] [#]
N 30
\\ 8
620 -20
NPSH g .
10
2
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I | I I I
0 20 40 60 80 100 120 140 Q [m3/h]
8 L —
P, —— 125/7.5
[w 6 — —
— 125/5.5
4 e 1
— 125/4.0
2 i L L
0 400 800 1200 1600 2000 2400 Q [I/min]
80
" — e~
[%] 70 =~ ~
N
60 ‘\\ \\\ DS 125 |/7.5
- 125/40 NN 125/55
I I
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B
218

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
65-160/7.5 — impeller diameter = 153 mm
65-160/9.2 — impeller diameter = 161 mm
65-160/11 — impeller diameter = 168 mm
65-160/15 — impeller diameter =178 mm
0 US.g.p.m. 100 200 300 400 500 600 700
| ] ] ] ] ] | ]
I I I I I | I
0 Imp.gpm. 100 200 300 400 500 600
> - 160
H
[m] ~l_ 76 710 [x]
4F——=— o 75
™
1 L - \\\ —120
T 7
~~_ 60//7‘ C
T T—— 76, N L 100
30 \\\ 0/92 \\ >
“ N 80
\\\ \\ \\‘
20 S
N 60
N NPSH
NG Y
[m] [f]
— 1 620 40
10 — 5115
NPSH — 4
— 310 20
2
5
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I | I I
0 20 40 60 80 100 120 140 Q [m3/h]
16 | —
Py — 160/15
[kw] 2 — 160/11
. _— 1 _— 160/9.2
— 160/7.5
4 - || !
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
% 80
SN 160/15
70 \\i\ 160/11
NS 160/9.2—
5 160/7.5 17 |
I
0 400 800 1200 1600 2000 2400 Q [1/min]
Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B
219

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE S50Hz

Rev. Al

65-200/15 — impeller diameter = 190 mm
65-200/18.5 — impeller diameter = 201 mm
65-200/22 — impeller diameter = 212 mm

0 US.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
| T T T T I T
0 0 Imp.gpm. 100 200 300 400 500 600
I S R - 220
H H
[m] = P [ft]
I 0 - 200
60 T~~~ \\ 0/22
‘\\ N
Y 2 D —180
—4 N 00//(9 ~
50 ~ NGO N
N\
N 160
N N
N 200// § \|
\\f N 140
40 N
N
NG 120
\\ NPSH
[m] [#]
30 100
g0
NPSH 620
. I 4 ~ 80
10
20
0 400 800 1200 1600 2000 2400 Q [I/min]
| | | | T T T | |
0 20 40 60 80 100 120 140 Q [m3/h]
24
P, — 200/22
] — — 200/18.5
l/ pu—"
— — 200/15
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
[%] 80 —_— 200/22
S 200/18.5
70 200/15
60
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B
220

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE S50Hz

Rev. Al

65-250/30 — impeller diameter = 235 mm
65-250/37 — impeller diameter = 250 mm

0 US.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
| [ [ [ [ [ [
0 Imp.gpm. 100 200 300 400 500 600
100
H —300 H
[m] e R /37 [#]
80 I ‘ ‘ \‘\\
T 25 NN - 250
~—/30 N
D
N
\\
N
NPSH
[m] [ft]
10+ —150
-3
40 8115
/
NPSH — 62
/
— 10
2715
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ [ [ [ [ [ [ [ [
0 20 40 60 80 100 120 140 Q [m3/h]
40 T
—
"2 5 T 250/37
[kw] | — | 250/30
20 // [
p—
10
0 400 800 1200 1600 2000 2400 Q [I/min]
80 T
n \\ —~ T T
[%] 70 — 250/37 1
=~ 250/30
60
50
0 400 800 1200 1600 2000 2400 Q [I/min]

Rotation speed = 2900 min-'!
Test standard: ISO 9906:2012 - Grade 3B

221

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE S50Hz

Rev. Al

80-160/11 — impeller diameter = 154 mm
80-160/15R — impeller diameter = 160 mm
80-160/15 — impeller diameter = 165 mm
80-160/18.5 — impeller diameter =174 mm

0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
[ I I I I I
0 Imp.g.p.m. 200 400 600 800 1000
%0 160
H H
[m) 10 1)
40 =
~l_ 7 120
MmO
_ ~— ‘\‘!\‘
b 76, 100
30 I S A N i*\\\ 0//5 \
6 \
~ 0//5@ N N - 80
\\// \\
20 ] AN - 60
IO LY
N NPSH
[m] [ 49
10 10
- 30
NP SH 8 —
e — 62020
4 —
;10
0 0
0 1000 2000 3000 4000 Q [I/min]
[ I I I I I I
0 50 100 150 200 250 Q [m3/h]
20
]
0, . 1 160/18.5
[kW] 16 — 160/15
12 —_— 160/15R
’/’ |
— 160,/11
8 | |
0 1000 2000 3000 4000 Q [1/min]
90
n \
%) &0 —_
70 \ ~N |
N 160/18.5
160/11°N" 160,/15R [ ]
60 — e
0 1000 2000 3000 4000 Q [1/min]

Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B

222

% EZARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE S50Hz

Rev. Al

80-200/22 — impeller diameter = 196 mm
80-200/30 — impeller diameter = 211 mm
80-200/37 — impeller diameter = 219 mm

0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
| | | | | I
" 0 Imp.g.p.m. 200 400 600 800 1000
250
H H
[m] ' N [ft]
-*\
% —— ‘% N
T—
200,57
N 50 \\
—— J \ .~
~~— , \\\i\‘\ 50
SN0
40 0/22 \\ \\‘
\\ \\\
N 100
N NPSH
[m] [f]
20 8 g
— 6— 20 50
NPSH || | = L
] 10
25
0 0
0 1000 2000 3000 4000 'a [1/min]
| T T I T T |
0 50 100 150 200 250 Q [m3/h]
40 —
P, . 200/37
[kw] %0 L 200/30
" _— 200/22
B |
10 |
0 1000 2000 3000 4000 Q [1/min]
90
n
[%] 80
= N TS| 200/37
7 a N N
70 77 N 200/30
# 200/22 .
60 | | | ‘ ‘
0 1000 2000 3000 4000 Q [1/min]
Rotation speed = 2900 min-’
Test standard: ISO 9906:2012 - Grade 3B
223

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. Al
80-250/37 — impeller diameter = 230 mm
80-250/45 — impeller diameter = 245 mm
80-250/55 — impeller diameter = 259 mm
0 USgpm. 200 400 600 800 1000 1200
| ] ] ] ] ] |
| I I I I [
0 Imp.g.p.m. 200 400 600 800 1000
100
’ el “F\\\ 2 L300 "
T o
80 —~—
250 | A - 250
O ) B e e Y s N\
—~— ‘ \\
05 0
60 %255 S - 200
N \\
\\ \\
\\ \\1 150
N,
40 N
NPSH 100
[m] [ft]
20 8
NPSH ] 6 gg L 50
— 415
| 10
25
0 0
0 1000 2000 3000 4000 Q [1/min]
[ I I | I I ]
0 50 100 150 200 250 Q [m3/h]
70 —
P2 250,/55
[kw] %° _— 250/45
e e el
30 — 250/37
0 ||
0 1000 2000 3000 4000 Q [1/min]
80
n ==\ ~
[%] 70 f/ N \\\\\
5’0 N 250/55
60 \\ \\ T
250,/37— 250,45
50 | | | | I |
0 1000 2000 3000 4000 Q [I/min]
Rotation speed = 2900 min-’!
Test standard: ISO 9906:2012 - Grade 3B
224

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION S50Hz

Rev. Al

SECTIONAL VIEW DRAWING 3(.)P 32, 40, 50, 65-125/160/200

/

58

¥

\|

=
/
4£A

33

[

67 93

42

6

044

92 66 19

200 72

11

.

26

25

317

% EZARA EBARA PUMPS EUROPE SpaA.




CE

NTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

S50Hz

Rev. Al
SECTIONAL VIEW TABLE 3(.)P 32, 40, 50, 65-125/160/200
N° PART NAME MATERIAL DIMENSIONS STANDARD
3P 3LP
1_|Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
3 |Support Cast iron EN-GJL-200-EN 1561
4 |Casing cover EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L)
6 |Shaft - Part in contact with liquid EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
6 A _|Flexible coupling Cast iron EN-GJL-250-EN 1561 See table pag. 334
7 _|lmpeller EN 1.4301 (AISI 304) I EN 1.4404 (AISI 316L) [6]
11 |Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM [5]
12 |Motor
19 |Bearing See table p. 325
20 |Bearing - See table p. 325
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8"L=8 DIN 906
32-125, 40-125 158.11x5.34 OR 6625
26 |"0"ring 32-160, 40-160, 50-125, 65-125 NBR [4] EPM 183.52x5.34 OR 6720
32-200, 40-200, 50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200 ) )
Upto 11 kW 6x6x25
32 |Key 15 KW and above EN 1.4401 (AISI 316) 8x7x30 UNI 6604
33 |Key c40 8x7x40 UNI 6604
Up to 11kW M16x1.5
34 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474
15 kW and above M20x1.5
42 |Pump support Fe 37 Galvanized EBARA DRAWING
42 A |Base Fe 37 Galvanized
44 |Protection Fe 37 Galvanized
50 |Foot Aluminium / Galvanized steel
58 |Fasting nut -
66 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561
67 _|Motor side bearing cover Cast iron EN-GJL-200-EN 1561
72 |Casing ring 1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
73 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
91 |Impeller spacer [71 EN 1.4404 (AISI 316L)
92 |"V"ring - VS - 0030
93 ["V"ring VS - 0030
32-125, 40-125 M 8x30 UNI 5739
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class ISO 3506/1
50-200, 65-125, 65-160, 65-200 M 10x35 UNI'5739
244 |Pin [3] / I EN 1.4301 (AISI 304) 4x15

Counterflange kit on request see p. 335-336

[1] For version: 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-1607.5,

50-200/9.2, 50-200/11, 50-200/15
[2] Quantity =10 for 32-160, 40-160, 50-125, 65-125

Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[3] Only for 65-160/15 and 65-200
[4] FPM for H-HS-HW-HSW version

EPDM for E version and Special Seals Q1Q1EGG, Q1U3EGG, U3CEGG, Q1AEGG, U3U3EGG
U3U3EGG is not available for model 65-160/15 and model 65-200
[5] Special version: see page 326 and following
[6] CF8M — EN 1.4408 (AISI316) material for 65-125 up to 65-200

[7] Only for 32-125/1.1

318

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION S50Hz

Rev. Al

SECTIONAL VIEW DRAWING 3LP 80-160

7% 24 77

42

3 6 20 67 93

11 244

200
200A

66 92 89 19

235

mmmmmm

319

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

S50Hz

SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250

6 20 67 93

92 66 89 19

NNNNNNNN

1 244 3

42

200

235

Rev. Al

320

EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

S50Hz

CONSTRUCTION

Rev. Al

90S 80S Ver

/LN

SECTIONAL VIEW DRAWING 3LP 65-250, 80-160/200/250

321

EBARA PUMPS EUROPE S.p.A.

B Eaana



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Al
SECTIONAL VIEW TABLE 3LP 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD [Q.TY
1 |Casing CF8M-EN 1.4408 (AISI 316) 1
3 |Support Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4404 (AISI 316L) 1
6 |Shaft EN 1.4404 (AISI 316L) - Wet extension 1
6 A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 334 1
7 |Impeller CF8M-EN 1.4408 (AISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [3] 1
12 |Motor - 1
19 |Bearing - See table p. 325 1
20 |Bearing - See table p. 325 1
24 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING| 1
25 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING| 1
26 |"O"ring FPM [2] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401 (AISI 316) 8x7x30 1
33 |Key C 40 8x7x40 UNI 6604 1
34 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
42 |Pump support Galvanized steel EPE DRAWING| 1
42 A |Base Galvanized steel EPE DRAWING| 1
44 |Protection Galvanized steel EPE DRAWING| 1
50 |Foot Aluminium EPE DRAWING | 2
50 A |Spacer for pump / /
50 B |Spacer for pump / /
50 C |spacer for protection / /
66 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
67 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
75 |Washer (plug) 1
76 [Washer (plug) EN 1.4404 (AISI 316L) 1
77 |O-ring (plug) 1
78 |O-ring (plug) FPM 12] 1
89 |Snap ring Carbon tool steels TC 80 40 UNI 7435 1
92 ["V"ring 1
93 ["V"ring i VS-0030 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 10
200 A|Screw M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 UNI 6873 1

Counterflange kit on request, see table p. 335-336

(1]
(2]

[3] Special version: see page 326 and following

Not for H and E option.
FPM for H, HW, HSW version

EPDM for E version, QIAEGG, Q1Q1EGG, Q1U3EGG, U3CEGG.

For drawing see p.319

322

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Al
SECTIONAL VIEW TABLE 3LP 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS |STANDARD | Q.TY
1 |Casing CF8M-EN 1.4408 (AISI 316) 1
3 |Support Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4401 (AISI 316) 1
4 A |Screw for casing cover EN 1.4301 (AISI 304) 2
6 |Shaft EN 1.4462 (Duplex stainless steel) - Wet extension 1
6 A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 334 1
7 |Impeller CF8M-EN 1.4408 (AISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [5] 1
12 |Motor - 1
19 |Bearing - See table p. 325 1
20 |Bearing - See table p. 325 1
24 |Plug EN 1.4404 (AISI 316L) G3/8 1
25 |Plug EN 1.4404 (AISI 316L) G3/8 1
26 |"O"ring FPM [4] 253.36x5.34 OR 6995 1
65-250 1
32 |Key 80-200 d=24 mm EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
80-250| d=29 mm 8x7x40 1
33 |Key C 40 10x8x60 UNI 6604 1
. 65-250 1
34 ':L‘jfe"er g0-200| 924 mm EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 | 1
80-250[ d=29 mm M24x2 1
42 |Pump support Galvanized steel 1
42 A |Base Galvanized steel 1
44 |Protection Galvanized steel 1
50 |Foot (only for 65-250/22kW) Aluminium 2
50 A |Spacer Aluminium [1]
50 B |Spacer Aluminium [2]
50 C |Spacer for protection Aluminium [3]
66 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
67 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
75 |Washer (plug) 1
76 |Washer (plug) EN 1.4404 (AISI 316L) 1
77 |O-ring (plug) 1
78 |O-ring (plug) FPM [4] 1
89 |Snap ring Carbon tool steels TC 80 50 UNI 7435 1
92 |"V"ring 1
93 ["V"ring ) VS-0040 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301 (AISI 304) 13 UNI 8842 10
244 |Pin [3] EN 1.4301 (AISI 304) 4x12 UNI 6873 1
Counterflange kit on request, see table p. 335-336
[1] Quantity =0 for 65-250, 80-200/22 and 80-250/55
Quantity =2 for 80-200/30, 80-200/37 and 80-250/45
[2] Quantity =0 for 65-250, 80-200/22 and 80-250/55
Quantity =2 for 80-200/30, 80-200/37 and 80-250/45
[3] Not for H and E option.
[4] FPM for H, HW, HSW version
EPDM for E version and for Q1IQ1EGG, Q1U3EGG, U3CEGG, Q1AEGG
EPDM for ES version only model 80-250
[5] Special version: see page 326 and following
For drawing see p.320-321
323

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Al
BEARINGS 3(.)S-3(.)P
Ball bearing Ball bearing
Pu
mp type Pump side | Fan side Pump type Pump Motor
Pump side Motorside Pump side Fanside
3(.)S(Z) 32-125/1.1 | 6204-2Z C3| 6204-2Z C3 3(.)P 32-125/1.1 620427 C3 6204-27 C3
3(.)S(2) 32-160/1.5 3(.)P 32-160/1.5 6306-2RS1 6206-2RS1
6205-2Z C3| 6205-2Z C3 6205-2Z C3 6205-2Z C3
3(.)S(2) 32-160/2.2 3(.)P 32-160/2.2
3(.)S(2) 32-200/3 | 6206-2Z C3 | 6206-2Z C3 3(.)P 32-200/3 6206-2Z C3 6206-2Z C3
3(.)S(2) 32-200/4 | 6306-2Z C3] 6306-2Z C3 3 R ¥
32 ;sﬁz; 32-2005.5 gﬁii gi ggg 5 GOBIRS1 | 6AGZRS! | OEEE DI
: —{6208-2Z C3| 6208-2Z C3 ' : . 6208-2Z C3 6208-2Z C3
3(.)S(2) 32-200/7.5 3(.)P 32-200/7.5
3(.)S(2) 40-12511.5
()S(2) 620527 C3| 6205-27 C3 3(P 40-125/1.5 620527C3 | 6205-2Z C3
3(.)S(2) 40-125/2.2 3(.)P 40-125/2.2 6306.2RS 1 6206.2RS 1
3(.)S(Z) 40-160/3 [ 6206-2Z C3] 6206-2Z C3 3(.)P 40-160/3 6206-2Z C3 6206-2Z C3
3(.)S(Z) 40-160/4 | 6306-2Z C3 [ 6306-2Z C3 3(.)P 40-160/4 6306-2Z C3 6306-2Z C3
3(.)S(Z) 40-200/5.5 3(.)P 40-200/5.5
6208-2Z C3| 6208-2Z C3 - X
3()S(2) 4020075 3(P 40200775 | 6308-2RS1 | 6306-2Rst | 02082203 | 020822C3
3(.)S(2) 40-200/11 | 6309-2Z C3] 6309-2Z C3 3(.)P 40-200/11 6309-2Z C3 6309-2Z C3
3(.)S(2) 50-125/2.2 | 6205-2Z C3] 6205-2Z C3 3()P 50-125/2.2 6205-2Z C3 6205-2Z C3
3(.)S(2) 50-125/3 | 6206-2Z C3] 6206-2Z C3 3(.)P 50-125/3 6306-2RS1 6206-2RS1 6206-2Z C3 6206-2Z C3
3(.)S(2) 50-125/4 | 6306-2Z C3] 6306-2Z C3 3(.)P 50-125/4 6306-2Z C3 6306-2Z C3
3(.)S(2) 50-160/5.5 3(.)P 50-160/5.5
3(.)S(2) 50-160/7.5 |6208-2Z C3| 6208-2Z C3 3(.)P 50-160/7.5 6208-2Z C3 6208-2Z C3
3(.)S(2) 50-200/9.2 3(.)P 50-200/9.2 6308-2RS1 6306-2RS1
3(.)S(2) 50-200/11 3(.)P 50-200/11
6309-2Z C3| 6309-2Z C3 6309-2Z C3 6309-2Z C3
3(.)S(2) 50-200/15 3(.)P 50-200/15
3(.)S(2) 65-125/4 | 6306-2Z C3] 6306-2Z C3 3(.)P 65-125/4 6306-2Z C3 6306-2Z C3
3(.)S(2) 65-125/5.5 3()P 65125/5.5 6306-2RS 1 6206-2RS1
3(.)S(2) 65-125/7.5 3(.)P 65125/7.5
6208-2Z C3| 6208-2Z C3 6208-2Z C3 6208-2Z C3
3(.)S(2) 65-160/7.5 3(.)P 65-160/7.5
3(.)S(2) 65-160/9.2 3(.)P 65-160/9.2
3(.)S(2) 65-160/11 3(.)P 65-160/11
3(.)S(2) 65-160/15 3(.)P 65-160/15 6308-2RS1 6306-2RS1
6309-2Z C3| 6309-2Z C3 6309-2Z C3 6309-2Z C3
3(.)S(2) 65-200/15 3(.)P 65-200/15
3(.)S(2) 65-200/18.5 3(.)P 65-200/18.5
3(.)S(2) 65-200/22 6311C3 | 6311C3 [1) |3(.)P 65-200/22 6311 C3 6311C3  |1)
3LS 65-250/30 1) | 3LP 65-250/30 1)
6312C3 | 6312C3 6310-2RS1 6308-2RS1 6312 C3 6312 C3
3LS 65-250/37 1) | 3LP 65-250/37 1)
3LS 80-160/11 3LP 80-160/11
3LS 80-160/15R 3LP 80-160/15R
- - 6308-2RS1 C3 | 6306-2RS1 C3 | 6309-2Z C3 6309-2Z C3
3LS 80-160/15 6309-22 C3) 6309-22 C3 3LP 80-160/15
3LS 80-160/18.5 3LP 80-160/185
3LS 80-200/22 6311C3 | 6311C3 [1) |3LP 80-200/22 6311 C3 6311C3  |1)
3LS 80-200/30 1) [3LP 80-200/30 1)
X - 6312 C3 6312 C3
3LS 80-200/37 6312C3 | 6312C3 [1) |3LP 80-200/37 6310.2RS1 C3 | 6308.2RS1 C3 1)
3LS 80-250/37 1) | 3LP 80-250/37 1)
3LS 80-250/45 6313C3 | 6313C3 [1) |3LP 80-250/45 6313 C3 6313C3  |1)
3LS 80-250/55 6314C3 | 6314C3 [1) |3LP 80-250/55 6314 C3 6314 C3  |1)
1) Motor available with lubrificator for regular re-greasing of bearing.

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION S50Hz

Rev. Al

MECHANICAL SEAL (standard, H, E and Special version)

L

L1 L2

$d3
P
P

- Y 74737 72W737 < 9
S§ J ASYIR SY

WWM%%

Dimensions Material
1 2 3 4
dl | d2 | d3 | d4 | d5 L L1 | L2 | Stationary Rotary Frame +

. ) Rubber .
seal ring seal ring Spring

Version Pump type

32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31| 37 [375]27.5| 10
Standard  [65-125 Carbon Ceramic NBR
65-160/7.5-9.2-11
65-160/15

65-200

32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31| 37 [375]27.5| 10
65-125
H 65-160/7.5-9.2-11 Carbon Ceramic FPM
65-160/15
65-200/250 30 | 24 | 46 | 39 | 45 [425]325] 10
80-160/200
80-250 351 29 | 50 | 44 | 50 |425]325] 10
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31| 37 [375]27.5]| 10
65-125 . EN 1.4401
E 65-160/7.5-9.2-11 Carbon | Ceramic | EPDM | g 316)
65-160/15
65-200/250 30 | 24 | 46 | 39 | 45 [425]325] 10
80-160/200
65-160/15 Silicon Metallised EN 1.4401

Q1AEGG™* |65-200/250 30 | 24 | 46 | 39 | 45 |425]32.5]| 10 ) EPDM
80-160/200 Carbide Carbon (AISI 316)

* The drawing is only indicative

EN 1.4401
(AISI 316)

30 | 24 | 46 | 39 | 45 | 425|325 10

EN 1.4401
(AISI 316)

326

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION S50Hz
Rev. Al
MECHANICAL SEAL (L version 922)
4 3
)OO
|
N N~
~N M
= ASS
| od 7 N
U »,
37.5
Material
Version Pump type _1 2 3 4
Stationary Rotary Frame
. . Rubber .
seal ring seal ring + spring
32-125/160/200
40-125/160/200
L 222 50-125/160/200 SiC SiC FPM i:\lSI1341%7T1
65-125 ( "
65-160/7.5-9.2-11
327

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION S50Hz
Rev. Al
MECHANICAL SEAL (L version 930-35)
L
L1 L2
L
R 2 L
; Q NZN N
: % 4 35 2 1 3 ‘
— o] N7 s |
f |
\
‘ \
Dimensions Material
Version | Pump type ! 2 3 4
POPe 1 41 | d2 | d3 | d4 | d5 | L | L1 | L2 |Stationary| Rotary Rubberl | Frame
seal ring |seal ring + spring
65-160/15
L 230 |65-200/250 | 30 | 24 | 44 | 39 | 45 |425| 31 |11.5 . . EN 1.4571
80-160/200 Sic SIC | FPM 1 aisi 316Ti)
L ¢35 |80-250 3529 | 49 | 44 | 50 |425 31 |115
328

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Al
MECHANICAL SEAL (HS version and Special version 222)
I
O |
RN
A
N ™~
™~ - - - 9
IS ESY
!
TSR KX | {
L WA
2% @ e J v
B 28.5 9
B 37.5 -
Material
) 1 2 3 4
Version Pump type Stationary Rotary Rubber Frame
seal ring | seal ring + spring
32-125/160/200
40-125/160/200
HS 222 50-125/160/200 SiC SiC FPM (i:\ISI1341%7'I'1|)
65-125
65-160/7.5-9.2-11
32-125/160/200
40-125/160/200 .
Q1AEGG*  [50-125/160/200 sic | Metalised | pppyy | EN 1.4401
Carbon (AISI 316)
65-125
65-160/7.5-9.2-11
* The drawing is only indicative

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION S50Hz
Rev. Al
MECHANICAL SEAL (HS version @30)
42.5
(31) ‘ 11.5
Foood @ J
IR I % 4 3 2 1 3 # o
B |
R —
Material
Version Pump type ,1 2 3 4
Stationary | Rotary Rubber Frame
seal ring | seal ring + spring
65-160/15 . . EN 1.4571
HS o 30 65-200 SiC SiC FPM (AISI 316 Ti)
330

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION S50Hz

Rev. Al

MECHANICAL SEAL (HW, HSW and Special version)

$d3

#d1
¢d2
b
|
|
|
|
|
|
0
pd4
#d5

Bl

Dimensions Material

1 2 3 4
d1 | d2 | d3 | d4 | d5 L L1 ] L2 Statlor.\ary Rota_ry Rubber Frame
seal ring seal ring + spring

Version Pump type

32-125/160/200
40-125/160/200
50-125/160/200 221 19| 38 | 31| 37 |37.5(27.5] 10
65-125
HW 65-160/7.5-9.2-11
65-160/15
65-200/250 30| 24 | 46 | 39 | 45 |425(325) 10
80-160/200
80-250 35 ] 29 | 50 | 44 | 50 |42.5|325) 10
32-125/160/200
40-125/160/200
50-125/160/200 221 19| 38 | 31| 37 |37.5(27.5] 10
65-125
HSwW 65-160/7.5-9.2-11
65-160/15
65-200/250 30| 24 | 46 | 39 | 45 |425(|325) 10
80-160/200
80-250 35 ] 29 | 50 | 44 | 50 |42.5|325) 10
32-125/160/200
40-125/160/200
U3U3EGG* |50-125/160/200 22 | 19 | 38 | 31 | 37 |37,5|27,5] 10
65-125
65-160/7.5-9.2-11
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19 | 38 | 31 | 37 |37,5|27,5] 10
65-125 Silicon Silicon EPDM EN 1.4401
65-160/7.5-9.2-11 Carbide Carbide (AISI 316)
65-160/15
65-200/250 30| 24 | 46 | 39 | 45 |425(325) 10
80-160/200
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19 | 38 | 31 | 37 |37,5|27,5] 10
65-125 Silicon Tungsten EPDM EN 1.4401
65-160/7.5-9.2-11 Carbide Carbide (AISI 316)
65-160/15
65-200/250 30| 24 | 46 | 39 | 45 |425(325) 10
80-160/200
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19 | 38 | 31| 37 |37,5|27,5] 10

Tungsten Silicon EN 1.4401

« [65-125
U3CEGG 65-160/7.5-9.2-11 Carbide Carbide EPDM (AISI 316)

65-160/15
65-200/250 30 | 24 | 46 | 39 | 45 |[42.5]325] 10
80-160/200

*The drawing is only indicative

Tungsten Tungsten FPM EN 1.4401
Carbide Carbide (AISI 316)

Tungsten " EN 1.4401
Carbide Sic FPM (AISI 316)

Tungsten Tungsten EN 1.4401
Carbide Carbide EPDM (AISI 316)

Q1Q1EGG*

Q1U3EGG*

331

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION S50Hz
Rev. Al
MECHANICAL SEAL (ES version)
42.5
52.9 10
Q 7NN\
@]
N 45 2 1 3
Lo (@)} _ _ _ _ < (@]
N N / <t I@]
0000 g g ZN
| ZINN 3
Material
Pump type ! 2 3 4
PP Stationary | Rotary R Frame +
: . ubber :
seal ring | seal ring Spring
. EN 1.4401
80-250 Carbon SiC EPDM (AISI 316)
332

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION S50Hz

Rev. Al

FLUID TEMPERATURE RANGE

The fluid temperature range depends on:
e Material of the elastomers
e Type of fluid pumped
e Material of the sealing faces

for each combination of these parameters the fluid temperature range may be different.

SEALING FACES MATERIAL

CERAMIC-CARBON ALL (excpet ceramic-carbon)
E NBR -10°C 90°C -10 °C 90°C
g EPDM -10°C 90°C -10°C 120°C
= FPM -10°C 75°C -10°C 75°C*

MIN MAX MIN MAX

FLUID TEMPERATURE RANGE

"In case of fluids not containing water, the temperature limit could be increased to 110°C

Therefore, the fluid temperature range is related to the choice of the mechanical seal and its materials.

STANDARD TEMPERATURE OPTIONAL TEMPERATURE SPECIAL TEMPERATURE
mechanical seal MIN MAX mechanical seal MIN MAX mechanical seal MIN MAX
STANDARD -10°C 90°C H -10°C 75°C Q1AEGG -10°C 120 °C
STANDARD . . HS -10°C 75°C U3U3EGG -10°C 120 °C
(L VERSION) 10e e HW -10°C 75°C Q1Q1EGG -10°C 120 °C
HSW -10°C 75°C Q1U3EGG -10°C 120 °C
E -20°C 90°C U3CEGG -10°C 120 °C

ES -20°C 120 °C
333

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz
Rev. Al
COUPLING
L
b Set screw UNI EN ISO 4029
_ o ° } I| m m
| L1 |
< = «—w5§*4 H———— 9=
Pump type Power Motor Dimensions mm
kW] | HP] | Size | d | d1 | d2 | d3 M L]t b h | Setscrew

32-125/1.1 1.1 1.5 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-160/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-200/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
32-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-125/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-160/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-160/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-125/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-160/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-200/15 15 20 160 22 22 42 63 M18x1.5 209 | 114 12 45.3 M8x8
65-125/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-125/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-125/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
65-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
65-250/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
65-250/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-160/11 11 15 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15R 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
80-200/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-200/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-250/37 37 50 200 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/45 45 60 225 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/55 55 75 250 29 35 60 89 M24x2 218 | 144 18 64.4 M12x12

334

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION S50Hz

Rev. Al

FLEXIBLE COUPLING

3 +1

e — =
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
Pump type Power Motor Dimensions mm

[KW] [ [HP] Size d1 h1 d2 b2 h2

32-125/1.1 1.1 1.5 80 24 27.3 19 6 21.8

32-160/1.5 1.5 2 90 24 27.3 24 8 27.3

32-160/2.2 2.2 3 90 24 27.3 24 8 27.3

32-200/3.0 3 4 100 24 27.3 28 8 31.3

32-200/4.0 4 5.5 112 24 27.3 28 8 31.3

32-200/5.5 5.5 7.5 132 24 27.3 38 10 41.3

32-200/7.5 7.5 10 132 24 27.3 38 10 41.3

40-125/1.5 1.5 2 90 24 27.3 24 8 27.3

40-125/2.2 2.2 3 90 24 27.3 24 8 27.3

40-160/3.0 3 4 100 24 27.3 28 8 31.3

40-160/4.0 4 5.5 112 24 27.3 28 8 31.3

40-200/5.5 5.5 7.5 132 24
40-200/7.5 7.5 10 132 24

27.3 38 10 413
27.3 38 10 41.3

40-200/11 11 15 160 24 27.3 42 12 45.3
50-125/2.2 2.2 3 90 24 27.3 24 8 27.3
50-125/3.0 3 4 100 24 27.3 28 8 31.3
50-125/4.0 4 5.5 112 24 27.3 28 8 31.3

50-160/5.5 5.5 75 132 24
50-160/7.5 75 10 132 24
50-200/9.2 9.2 12.5 132 24

27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3

50-200/11 11 15 160 24 27.3 42 12 45.3
50-200/15 15 20 160 24 27.3 42 12 45.3
65-125/4.0 4 5.5 112 24 27.3 28 8 31.3

65-125/5.5 5.5 7.5 132 24
65-125/7.5 7.5 10 132 24
65-160/7.5 7.5 10 132 24
65-160/9.2 9.2 12.5 132 24

27.3 38 10 413
27.3 38 10 41.3
27.3 38 10 413
27.3 38 10 413

65-160/11 11 15 160 24 27.3 42 12 45.3
65-160/15 15 20 160 24 27.3 42 12 45.3
65-200/15 15 20 160 24 27.3 42 12 45.3
65-200/18.5 18.5 25 160 24 27.3 42 12 45.3
65-200/22 22 30 180 24 27.3 48 14 51.8
65-250/30 30 40 200 32 35.3 55 16 59.3
65-250/37 37 50 200 32 35.3 55 16 59.3
80-160/11 11 15 160 24 27.3 42 12 45.3
80-160/15R 15 20 160 24 27.3 42 12 45.3
80-160/15 15 20 160 24 27.3 42 12 45.3
80-160/18.5 18.5 25 160 24 27.3 42 12 45.3
80-200/22 22 30 180 32 10 35.3 48 14 51.8
80-200/30 30 40 200 32 10 35.3 55 16 59.3
80-200/37 37 50 200 32 10 35.3 55 16 59.3
80-250/37 37 50 200 32 10 35.3 55 16 59.3
80-250/45 45 60 225 32 10 35.3 55 16 59.3
80-250/55 55 75 250 32 10 35.3 60 18 64.4

335

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. Al
FITTINGS
COUNTERFLANGE ZINCKED STEEL
F
‘ E ‘
| - -
= . |\_ﬂ|_1 ‘
E= 10 I j —
i oW
L
SN N° Holes @18
Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL
32 | G114 ] 100 140 15 11.5 67 50 4
40 | G11/2] 110 150 175 | 115 72 58 4 M16x55
50| G2 | 125 | 165 | 19 | 15 | 89 | 70 4 X Gv. Steel 8.8
strenght class
65 | G21/2| 145 185 23 14 104 88 4 ISO 898-1
80 G3 160 200 24 16 117.5 | 100 8 M16x60
100 G4 180 220 29 16 144 125 8
COUNTERFLANGE EN 1.4404 (AISI 316L)
£
D
SN N° Holes #18 |
T
-
E
] — 1
O
L
F
Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL
32 | G11/4] 100 140 29.5 14 66 44
40 | G11/2| 110 150 29.5 14 71 50.5
4 M16x55 A2-70 class
50 G2 125 165 34 16 83 63 1SO 3506-1
65 | G21/2| 145 185 40 16 103 80
80 G3 160 200 42 18 122 92 8 M16x60

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION S50Hz

Rev. Al

COUNTERFLANGE EN 1.4404 (AISI 316L) DN100

‘ E
SN _N° Holes @18 ‘ D
|
NI |
< | = |
I | ‘
T
d | : |
F 1
Counterflange Screw

DN D E F H H1 L SN | DIMENSIONS | MATERIAL

A2-70 class

100 | G4 | 180 | 220 | 35 20 | 150 8 M16x70 1SO 3506-1

GASKET

DN M M1

32 38 82
40 50 93
50 60 107
65 80 125
80 90 140
100 115 160

Thickness 2

Material : EPDM for standard version
FPM for L version

337

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT S50Hz

Rev. Al

PUMP 3(.)P 32, 40, 50, 65

N3
N1
N2
i
[t
@\%
DN1

2
S
w
$
< NI
NS
N
0 N
w o~
S~ \{
M S 9Vw
SRR
| [
o~ o n
M n O
— —
S S
wl - -z
Rl
c c
o o
3 ©
M ~—
A
(@)}
@®
o
Qo
i I I o
o B ©
)
N (0]
F— - - +— = o)
a »n
| =) [ 2
T S~ %
o 9 :
ki €
~ ©
> 5
L

417

EBARA PUMPS EUROPE S.p.A.



S50Hz
Rev. Al

ysenbaiuQ [g]  piepuess [1]

3 SERIES

PUMP 3(.)P 32, 40, 50, 65

- G LXZENE LXZEIN | 0004 | 09€| 0S| 0L¥|008|00L| 289|¥2LL|96Z|00)|892|S22|08L| GG |9L|S8L|SPL|SLL| G9 | ¥ | 8 [81]002|09L|¥€L| 08| 22/002-G9
- S'LXOPING LXOPIN | 00014 | 0E€€E| 02| 08€| 008|00}|2S9(GL1L1L|962|00L|8E2|G22|08L| GG |9L|G8L|SYL|SLL| G9 | ¥ | 8 [81]002|09L|¥€L| 08]5'8L/002-G9
- S'LXOPING LXOPIN | 0001} | 0E€€| 02| 08€| 008|00}| 8091201 |962|00L|8E2|S22|08L| GG | 9L |G8L|SYL|SLL| G9 | ¥ | 8 [8L]00Z|09L|¥€L| 08| S1/002-G9
- S LXOVING LXOPIN | 00014 | 0E€E| 02| 08€| 008|00L|809(L20L|96Z|00)| 82| 002|09L| OL¥|9L|G8L|SYL|SLL| G9 | ¥ | 8 |81]002|09L|¥€L| 08| S1L/09L-G9
- G LXOVING LXOFIN | 00014 | 0EE| 02| 08€| 008|001L|809|L20L|962|00)|8E2|002|09L| 0Ly |9L|S8L|SYL|SLL| S9 | ¥ | 8 |8L{00Z|09L|¥EL| 08| L1/09L-G9
- G'IXZEWE LXZEN | 0S8 | 00€|06€|0SE| 059|001 |28Y| S¥6 |962|00L|861|002|09L| OL¥|9L|G8L|SYL|SLL| G9 | ¥ | 8 [8L|00Z|09L|¥€L| 08| Z'6/09L-G9
- G'LXZEWE LXZEN | 0S8 | 00€| 06E| 0SE|0S9|00L|2h| S06 |962|00L| 861 |00Z|09L| OL¥|9L|S8L|SYLISLL| G9 | ¥ | 8 |81]002|09L|¥€L| 08| G 2/091-G9
- G'LXZEWE LXZEN | 0S8 | 00€| 06€| 0SE|0S9|00L| 2P| S06 |#S2|00L| 861 |08L|09L| 06€|9L|S8L|SYL|SLL| G9 | ¥ | 8 |81]002|09L|¥€L| 08| G2/SCL-G9
66 |SIXZEWE LXZEN | 0S8 | 00€|06€|0SE| 059|001 |Z¥Y| S06 |#G2|00)|861|08L|09L| 06€ |9L|S8L|SYL|SLL| S9 | ¥ | 8|8L|00Z|09L|¥EL| 08| G'G/SZL-G9
1'G8 | G LXOZING LXGZ | 0GZ | 00E|06€|0GE|06G| 08 |88€| LG8 |#SZ|00L|LLL|08L[09L| 06€ |91L|G8L|SYL|GLL| S9 | ¥ | 8 [81|00Z|09L|PEL| 08  +/SZL-G9
- S LXOVING LXOPIN | 00014 | 0E€E| 02| 08€| 008|004 |809(L20L|96Z|00L| 82| 002|09L| OL¥|9L|S9L|SZL| G6 | 0S | - | ¥ |9L|S8L|SYL|SLL| G9| S1/00Z-0S
- G LXOVING LXOPIN | 00014 | 0E€E| 02| 08€| 008|00L|809(L20L|96Z|00L| 82| 002|09L| OL¥|9L|G9L|GZL| G6 | 0S | - | ¥ |9L|S8L|SYL|SLL| G9| L1/00Z-0S
- G'IXZEN G LXZEN | 0S8 | 00€|06€|0SE| 069|001 |Z8%| S¥6 |962|00L| 861 |00Z|09L| OL¥|9L|G9L|SZL| G6 | 0S | - | ¥ |9L|S8L|SPL|SLL| S9| 2'6/002-05
- G'LXZEWE LXZEN | 0S8 | 00€| 06€| 0SE|0S59|001L| 2P| S06 | 962|001 861 |08L|09L| 06€|9L|G9L|GZL| G6 | 0S | - | ¥ |9L|S8L|SYL|SLL| G9| G 2/09L-0G
86 | SIXZEWE LXZEN | 0S8 | 00€|06€| 0SE| 059|001 |Zht| S06 |962|00L|861|08L|09L| 06€ |9L|S9L|GZL| G6 | 0G | - | ¥ |9L|S8L|SPL|SLL| S9| S°G/09L-05

998 |G LX0ZING LXGZIN| 0SZ | 00€|06€| 0G| 06S| 08 |88€| LG8 |¥SZ|00L| LLL|09L|ZEL| ZvE|9L|GOL|SZL| G6 | 0S | - | ¥ |9L|S8L|SPL|SLL| S9|  #/SZL-0S
G'Z8 |G IX0ZNE LXGZIN| 0SZ | 00E|06€|0SE|06S| 08 |99€| 628 | ¥SZ|00L|SSL|09L|ZEL| ZvE|9L|G9L|SZL| G6 | 0S | - | ¥ |9L|S8L|SPL|SLL S9|  €/S2L-0S
G/ |SIX0ZNG LXSZIN| OLZ |00E|06€|0SE|0SS| 08 |ZLE| 08 |¥GZ|00L|8¥L|09L|ZEL| 2PE |9L|SOL|GZL| G6 | 0G | - | ¥ |9L|S8L|SPL|SLL| S9| Z'z/szi-05
- S LXOVING LXOFIN | 0001 | 0EE| 02| 08€| 008|001L|809|L20L|962|00)|8EZ|08L|09L| 06E |¢7L|0SL|OLL| 08 | OF | - | ¥ |9L|S8L|SPL|SLL| S9| L1/00Z-0F
- G'IXZEWE LXZEN | 0S8 | 00€|06€|0SE| 059|001 |2hY| S06 |962|00)| 861 |08L|09L| 06€ |¥7L|0SL|OLL| 08 | OF | - | ¥ |9L|S8L|SPL|SLL| 9| G 2/002-0%
86 |SIXZEWE LXZEN | 0S8 | 00€|06€|0SE| 059|001 |ZvY| S06 |962|00)|861|08L|09L| 06€ |¥7L|0GL|OLL| 08 | OF | - | ¥ |9L|S8L|SPL|SLL| S9| §°G/002-0%
9'/9 |G LXOZNE LXGZIN| 0SZ |00€|06E|0SE|06S| 08 |88E| LES |¥SZ| 08 | LLL|09L|2EL| ZVE | #L|0SL{OLL| 08| OV | - | ¥ |9L|G8L|SPLIGLL| SO  +/09L-0F
18 | S IXOZING LXGZIN| 0SZ | 00€|06E|0SE|06S| 08 |99€| 608 | ¥SZ| 08 |SSL|09L|ZEL| Zve | ¥L|0GLIOLL]| 08 | OF | - | ¥ |9L|S8L|SPL{GLL| S9  €/09L-0F
LS |G IXOZING LXGZIN| OLZ | 0SZ|0bE|00€|0GS| 08 |LLE| 092 |€1Z| 08 |8¥L|OVL|ZLL| 20E|¥L|0GLIOLL| 08 | OF | - | ¥ |9L|S8L|SPL|SLL| SO Z'2/szi-0F
8'67 |G LXOZNE LXGZIN| 0L |0SZ|0¥E|00€|0SS| 08 |ZLE| 092 |€12| 08 |8FL|OFL|ZLL| 20E | #L|{0SL[OLL| 08| OV | - | ¥ |9L|G8L|SPL|GLL| 9| S L/SZL-0F
- G'LXZEWE LXZEN | 0S8 | 00€| 06€| 0SE| 059|001k | 2P| S88 |962| 08 |861|08L|09L| 06 | L |0FL|00L| GZ | 2E | - | ¥ |9L|S9L|SCL| G6 | 0S| G 2/002-2€
16 | S IXZENE LXZEN | 068 | 00€|06E|0SE| 069|001k | Zvy| G889 |962| 08 |861|08L|09L| 06E | ¥L|0FL|00L| G2 | 2€ | - | ¥ |9L|G9L|S2L| S6 | 0S| §'G/00Z-2€
L'GL |G LXOZING LXGZN | 0GZ | 00E|06€|0GE|06G| 08 |88E| L€8 |96Z| 08 | LLL|08L[09L| 06E |¥L|0FL|00L| G2 | 2E | - | ¥ |94|S9L|GZL| G6 | 0G|  +/002-2€
G'L. |G LXOZNE LXGZIN| 0SZ |00€|06E|0SE|06S| 08 |99€| 608 |962| 08 |SSL|08L|09L| 06€E | ¥L|0VL|00L| G2 | 2€ | - | ¥ |9L|G9L|SZL| S6 | 0G| €/002-2€
G'€G |G LXOZNG LXGZIN| 0SZ | 00€|06€|0GE|06S| 08 | ZLE| 092 | ¥SZ| 08 |8¥L|09L|ZEL| ZvE | ¥L|OVL|00L| G2 | 2€ | - | ¥ |9L|S9L|SZL| G6 | 0G| 2'2/09L-2€
€75 |SIX0ZING LXGZIN| 0SZ | 00€|06€|0SE|06S| 08 | ZLE| 092 |¥SZ| 08 |8¥L|09L|ZEL| ZvE | ¥L|OVL|00L| G2 | 2E | - | ¥ |9L|S9L|SZL| G6 | 0G| G L/09L-2E
L'Gy | S LXOZING LXGZW | OLL | 0S2|0YE|00€|0SS| 08 |222| SLL [€1Z| 08 |6EL|0VL|ZLL| 20E | ¥L|0FL|00L| G2 | 2E | - | ¥ |9L|S9L|S2L| G6| 0S| L'LISTL-2E
1631 A A L lenlanlinl alalial @ v lylenlzulinl b ZS|za| o | zd [eNa|lel|ll|is| ta | M| 1d INa
o @|@|0| Z 22| 2|3 jepopn
b
[ww] suoisuawiqg

CENTRIFUGAL PUMPS
DIMENSIONS AND WEIGHT

418

EBARA PUMPS EUROPE S.p.A.




3 SERIES

CENTRIFUGAL PUMPS

S50Hz

DIMENSIONS AND WEIGHT

Rev. Al

PUMP 3LP 65-250, 80-160/200/250

419

1a

00% |S'LXOVIN| S LXOVIN| 8 |6L| - |00ZL|000L|66E|0L1|89.|SSEL|09Y|06G|0£S|SZL| 09|00€|082|00Z|0vS|22|002|SEL| 2 Bid 08 | ¥Z|S22Z|08L|GSL| 00L| 2€£/052-08
8/Z |SIXZEW| S LXZEW| 8 |6L| - |00ZL|000L|09E|0LY|L89|0FZL|09Y|06G|0£S|SZL| 09|892|0S2Z| 08L|06¢|22|002|SEL| 2 "Bid 08 | ¥Z|S22Z|08L|GSL| 00L| 22/002-08
Z'181 | G LXOPIN | G'LXOPIN| S [S1|02|000L| 008 |21£|09€|259|0F L L|0EE|0ZY|08€E|SG2L| 0G|8€2| 522|081 |SSY| 22| 00Z|SEL| Z 614 08 | ¥2|S2Z|08L|SSL| 00) |G°81L/091L-08
981 |S'LXOVIN| S LXOVIN| G |G1|0Z|000L| 008 |Z1€|09€|809|9601L|0£E|0ZF|08E|SZL| 0S|8€2|522|08L|GSY|22|002|SEL| 2 Bid 08 | ¥Z|S22|08L|GSL| 00L| S1/091-08
981 |S'LXOVN| S LXOVIN| G |GL|0Z|000L| 008 |ZLE|09€|809|960L|0EE|02F|08E|SZL| 0G|8€2|522| 08L|GSY|22|002|SEL| 2 "Bid 08 | ¥2|S22|08L|GSL| 001 [ ¥SL/091-08
8'v/1L | G LXOVIN | G'LXOPIN| S [S1|02|000L| 008 |Z1€|09€|809|9601|0£E|0Z1|08€E|SG2L| 0G|8€2| 522|081 |SS| 22| 00Z|SEL| Z 614 08 | ¥2|S2Z|08L|SSL| 00L| L1/09L-08
L6E |G LXOPIN | STLXOVIN| 8 |6L| - [00Z1|000L|66E|0LF|892|0SEL|09Y|06S|0EG|00L| 09|00€|05Z|002|0LS|0Z|S8L|0ZL| L 614 69 | 22|00Z|09L|SEL| 08 | LE£/0G2-G9
€L€ |SIXOVN| S LXOVIN| 8 |6L] - |00ZL|000L|66E|0LY|89.|0EEL| 09| 06G|0£S|00L| 09|00€|0S2Z|002|0LS|0Z|G8L|0ZL| L "Bi4 G9|2Z|002Z|09L|GEL| 08 | 0£/052-G9
6 [4A\ LA ds|vals| L 3 9]0 (ld| 9 |EN|ZN|LIN| H |PH|EH|CH|LH| H |ZS|¢d|cd ¢Nd LS| 1d| K| Ld|ING
[463] adA dwng
LYY [ww] suoisuswiq
¢N L
IN E| 00l
¢N vs—v J d
T
>
=
-
e
N}

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

9 225

DIMENSIONS AND WEIGHT 50Hz
Rev. Al
PUMP 3LP 80-200/30/37, 80-250/45
B
2-63/8
2 8-918 /
= ]
\
8 8 ] e — 'z
s B <] 2180
T
7218
3
460
100 1000 530
1200 590
Pump type Dimensions [mm] V\Esgiﬁ]ht
H H1 H2 H3 B B1 G S V1 V2
80-200/30 510 | 180 | 250 | 300 | 1355 | 768 | 399 20 | M40x1.5 | M40x1.5 374
80-200/37 510 | 180 | 250 | 300 | 1355| 768 | 399 20 | M40x1.5 | M40x1.5 388
80-250/45 565 | 200 | 280 | 335 | 1391 | 809 | 465 25 | M50x1.5 | M50x1.5| 455
420

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT S50Hz

Rev. Al

PUMP 3LP 80-250/55

509

08¢

00¢ 0G| GL

50
620
680

19¢ — 1
90G | @
|
\
|
—
A e
i
| .
E = L=
2 el
R AR AR 871
A
© 2
e} —a
a | 4 o S
,J,!,L‘ rﬁL g 2
L ‘ |
ﬁlﬂ )
|
| =
144 |
) S
S Fl Eo===TIAE =
— — - = K
A - 0
]
N S 2
00ING o)
=

421

% EZARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT S50Hz

Rev. Al

PACKING 3(.)P

Pump type Packing [mm] W eight
z X Y Kgf
32-125/1.1 394 | 46.7
32-160/1.5 52.3
434
32-160/2.2 53.5
32-200/3.0 71.5
32-200/4.0 75.1
482
32-200/5.5 97
32-200/7.5 112.2
40-125/1.5 49.8
394
40-125/2.2 51
40-160/3.0
434 81
40-160/4.0 67.6
40-200/5.5 98
40-200/7.5 482 | 106.9
40-200/11 127.8
50-125/2.2 75
50-125/3.0 434 82.5
50-125/4.0 84.6
50-160/5.5 98
482
50-160/7.5 106.9
50-200/9.2 111
50-200/11 502 | 128.3
50-200/15 1200 | 800 135.4
65-125/4.0 85.1
65-125/5.5 482 99
65-125/7.5 109.4
65-160/7.5 115.4
65-160/9.2 502 118
65-160/11 124.8
65-160/15 129
65-200/15 137
547
65-200/18.5 135.2
65-200/22 189
65-250/30 354
685
65-250/37 373
80-160/11 174.8
80-160/15R 186
593
80-160/15 186
80-160/18.5 181.2
80-200/22 633 259
80-200/30 356
80-200/37 685 365
80-250/37 377
80-250/45 745 440
80-250/55 811 528

424

% EZARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

TECHNICAL DATA

S50Hz

MOTOR DATA 3(.)S-3(.)P

Rev. Al

Motor Efficiency (% load) Full load current Locked rotor current
Pump type Power - Input and power-factor Al [A]
"g‘.’“’r Eificiency| ) n% cos—d | 230v | 400v | ee0v | 230v | 400V | ee0v
ize [kwW] [HP]
50% 75% 100%

3(.)S(2) 32-125/1.1 3()P 32-125/1.1 80 1.1 1.5 IE3 1,26 78,7 81,7 82,7 0,76 4.2 2,4 - 38,7 22,3 -

3(.)S(2) 32-160/1.5 3(.)P 32-160/1.5 90S 1.5 2 IE3 1,77 83,2 84,8 84,2 0,85 52 3,0 - 43,6 25,2 -

3(.)S(2) 32-160/2.2 3(.)P 32-160/2.2 90L 22 3 IE3 2,61 85,0 86,2 86,5 0,82 8,0 4,6 - 73,3 42,3 -

3(.)S(Z) 32-200/3.0 3(.)P 32-200/3.0 100L 3 4 IE3 3,45 82,3 85,8 87,1 0,89 9,7 5,6 - 85,4 49,3 -

3(.)S(Z) 32-200/4.0 3(.)P 32-200/4.0 112M 4 5.5 IE3 4,51 86,8 87,8 88,1 0,93 121 7,0 - 116,4 67,2 -
3(.)S(2) 32-200/5.5 3(.)P 32-200/5.5 1328 5.5 7.5 IE3 6,24 88,0 88,5 89,2 0,90 - 10,0 58 - 89,0 514
3(.)S(2) 32-200/7.5 3(.)P 32-200/7.5 7.5 10 IE3 8,35 88,6 89,2 90,1 0,92 - 13,1 7,6 - 116,6 67,3

3(.)S(Z) 40-125/1.5 3(.)P 40-125/1.5 90S 1.5 2 IE3 1,77 83,2 84,8 84,2 0,85 52 3,0 - 43,6 252 -

3(.)S(Z) 40-125/2.2 3(.)P 40-125/2.2 90L 22 3 IE3 2,61 85,0 86,2 86,5 0,82 8,0 4,6 - 73,3 42,3 -

3(.)S(Z) 40-160/3.0 3(.)P 40-160/3.0 100L 3 4 IE3 3,45 82,3 85,8 87,1 0,89 9,7 5,6 - 85,4 49,3 -

3(.)S(Z) 40-160/4.0 3(.)P 40-160/4.0 112M 4 5.5 IE3 4,51 86,8 87,8 88,1 0,93 12,1 7,0 - 116,4 67,2 -
3(.)S(Z) 40-200/5.5 3(.)P 40-200/5.5 132M 5.5 7.5 IE3 6,24 88,0 88,5 89,2 0,90 - 10,0 58 - 89,0 51,4
3(.)S(Z) 40-200/7.5 3(.)P 40-200/7.5 7.5 10 IE3 8,35 88,6 89,2 90,1 0,92 - 13,1 7,6 - 116,6 67,3
3(.)S(Z) 40-200/11 3(.)P 40-200/11 160M 11 15 IE3 12,15 87,4 89,8 91,2 0,89 - 19,7 11,4 - 179,3 103,5

3(.)S(2) 50-125/2.2 3(.)P 50-125/2.2 90L 22 3 IE3 2,61 85,0 86,2 86,5 0,82 8,0 4,6 - 73,3 42,3 -

3(.)S(2) 50-125/3.0 3(.)P 50-125/3.0 100L 3 4 IE3 3,45 82,3 85,8 87,1 0,89 9,7 5,6 - 85,4 49,3 -

3(.)S(2) 50-125/4.0 3(.)P 50-125/4.0 112M 4 5.5 IE3 4,51 86,8 87,8 88,1 0,93 12,1 7,0 - 116,4 67,2 -
3(.)S(2) 50-160/5.5 3(.)P 50-160/5.5 1328 5.5 7.5 IE3 6,24 88,0 88,5 89,2 0,90 - 10,0 58 - 89,0 51,4
3(.)S(2) 50-160/7.5 3(.)P 50-160/7.5 7.5 10 IE3 8,35 88,6 89,2 90,1 0,92 - 13,1 7,6 - 116,6 67,3
3(.)S(Z) 50-200/9.2 3(.)P_50-200/9.2 132M 9.2 12.5 IE3 10,17 88,6 89,8 90,7 0,89 - 16,5 9,5 - 166,7 96,2
3(.)S(2) 50-200/11 3(.)P 50-200/11 160M 11 15 IE3 12,15 87,4 89,8 91,2 0,89 - 19,7 114 - 179,3 103,5
3(.)S(2) 50-200/15 3(.)P 50-200/15 15 20 IE3 16,46 91,0 91,3 91,9 0,89 - 26,7 15,4 - 259,0 149,5

3(.)S(2) 65-125/4 3(.)P 65-125/4 112M 4 5.5 IE3 4,51 86,8 87,8 88,1 0,93 12,1 7,0 - 116,4 67,2 -
3(.)S(2) 65-125/5.5 3(.)P 65-125/5.5 5.5 7.5 IE3 6,24 88,0 88,5 89,2 0,90 - 10,0 58 - 89,0 51,4
3(.)S(2) 65-125/7.5 3(.)P 65-125/7.5 1328 7.5 10 IE3 8,35 88,6 89,2 90,1 0,92 - 13,1 7,6 - 116,6 67,3
3(.)S(2) 65-160/7.5 3(.)P 65-160/7.5 7.5 10 IE3 8,35 88,6 89,2 90,1 0,92 - 13,1 7,6 - 116,6 67,3
3(.)S(2) 65-160/9.2 3(.)P 65-160/9.2 132M 9.2 12.5 IE3 10,17 88,6 89,8 90,7 0,89 - 16,5 9,5 - 166,7 96,2
3(.)S(2) 65-160/11 3(.)P 65-160/11 11 15 IE3 12,15 87,4 89,8 91,2 0,89 - 19,7 11,4 - 179,3 103,5
3(.)S(2) 65-160/15 3(.)P 65-160/15 160M 15 20 IE3 16,46 91,0 91,3 91,9 0,89 - 26,7 15,4 - 259,0 149,5
3(.)S(2) 65-200/15 3(.)P 65-200/15 15 20 IE3 16,46 91,0 91,3 91,9 0,89 - 26,7 15,4 - 259,0 149,5
3(.)S(Z) 65-200/18.5 3(.)P 65-200/18.5 160L 18.5 25 IE3 20,12 91,6 92,8 92,4 0,88 - 33,0 19,1 - 353,1 203,9
3(.)S(2) 65-200/22 3(.)P 65-200/22 180 22 30 IE3 23,73 90,5 92,7 92,7 0,89 - 37,5 21,7 - 307,5 178,0
3LS 65-250/30 3LP 65-250/30 200 30 40 IE3 32,15 91,7 93,3 93,3 0,89 - 52,1 30,2 - 380,0 220,5
3LS 65-250/37 3LP 65-250/37 37 50 IE3 39,49 91,9 93,7 93,7 0,89 - 64,0 36,9 - 467,0 269,5
3LS 80-160/11 3LP 80-160/11 11 15 IE3 12,15 87,4 89,8 91,2 0,89 - 19,7 11,4 - 179,3 103,5
3LS 80-160/15R 3LP 80-160/15R 160M 15 20 IE3 16,46 91,0 91,3 91,9 0,89 - 26,7 15,4 - 259,0 149,5
3LS 80-160/15 3LP 80-160/15 15 20 IE3 16,46 91,0 91,3 91,9 0,89 - 26,7 15,4 - 259,0 149,5
3LS 80-160/18.5 3LP 80-160/18.5 160L 18.5 25 IE3 20,12 91,6 92,8 92,4 0,88 - 33,0 19,1 - 353,1 203,9
3LS 80-200/22 3LP 80-200/22 180 22 30 IE3 23,73 90,5 92,7 92,7 0,89 - 37,5 21,7 - 307,5 178,0
3LS 80-200/30 3LP 80-200/30 30 40 IE3 32,15 91,7 93,3 93,3 0,89 - 52,1 30,2 - 380,0 220,5
3LS 80-200/37 3LP 80-200/37 200 37 50 IE3 39,49 91,9 93,7 93,7 0,89 - 64,0 36,9 - 467,0 269,5
3LS 80-250/37 3LP 80-250/37 37 50 IE3 39,49 91,9 93,7 93,7 0,89 - 64,0 36,9 - 467,0 269,5
3LS 80-250/45 3LP 80-250/45 225 45 60 IE3 47,87 92,3 94,2 94,0 0,90 - 76,8 44,3 - 591,0 341,0
3LS 80-250/55 3LP 80-250/55 250 55 75 IE3 58,32 93,0 94,3 94,3 0,90 - 93,5 54,0 - 720,0 416,0

501

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

TECHNICAL DATA 50Hz
Rev. Al
NOISE DATA 3(.)S-3(.)P
Power
Pump type '\g?;zr kw) | e Loa - dB(A) *
3(.)S(2) 32-125/1.1 3(.)P 32-125/1.1 80 1.1 1.5
3(.)S(Z) 32-160/1.5 3(.)P 32-160/1.5 90S 1.5 2 <70
3(.)S(Z) 32-160/2.2 3(.)P 32-160/2.2 90L 2.2 3
3(.)S(2) 32-200/3.0 3(.)P 32-200/3.0 100L 3 4
3(.)S(2) 32-200/4.0 3(.)P 32-200/4.0 | 112M 4 5.5 <70
3(.)S(2) 32-200/5.5 3(.)P 32-200/5.5 1328 | 55 7.5 72
3(.)S(2) 32-200/7.5 3(.)P 32-200/7.5 1328 | 75 10
3(.)S(Z) 40-125/1.5 3(.)P 40-125/1.5 90S 1.5 2
3(.)S(Z) 40-125/2.2 3(.)P 40-125/2.2 90L 2.2 3 <70
3(.)S(Z) 40-160/3.0 3(.)P 40-160/3.0 100L 3 4
3(.)S(Z) 40-160/4.0 3(.)P 40-160/4.0 | 112M 4 5.5 <70
3(.)S(Z) 40-200/5.5 3(.)P 40-200/5.5 132S | 55 7.5 72
3(.)S(Z) 40-200/7.5 3(.)P 40-200/7.5 1328 | 7.5 10
3(.)S(Z) 40-200/11 3(.)P 40-200/11 160M 11 15 74
3(.)S(Z) 50-125/2.2 3(.)P 50-125/2.2 90L 2.2 3 <70
3(.)S(2) 50-125/3.0 3(.)P 50-125/3.0 100L 3 4
3(.)S(2) 50-125/4.0 3(.)P 50-125/4.0 | 112M 4 5.5 <70
3(.)S(2) 50-160/5.5 3(.)P 50-160/5.5 1328 | 55 7.5
3(.)S(2) 50-160/7.5 3(.)P 50-160/7.5 1328 | 7.5 10 72
3(.)S(Z) 50-200/9.2 3(.)P 50-200/9.2 | 132M | 9.2 12.5
3(.)S(Z) 50-200/11 3(.)P 50-200/11 160M 11 15 74
3(.)S(Z) 50-200/15 3(.)P 50-200/15 160M 15 20
3(.)S(Z) 65-125/4 3(.)P 65-125/4 112M 4 5,5 <70
3(.)S(Z) 65-125/5.5 3(.)P 65-125/5.5 1328 | 5.5 7.5
3(.)S(Z) 65-125/7.5 3(.)P 65-125/7.5 1328 75 10 72
3(.)S(Z) 65-160/7.5 3(.)P 65-160/7.5 1328
3(.)S(2) 65-160/9.2 3(.)P 65-160/9.2 | 132M [ 9.2 12.5
3(.)S(2) 65-160/11 3(.)P 65-160/11 160M 11 15
3(.)S(Z) 65-160/15 3(.)P 65-160/15 160M 15 20 74
3(.)S(Z) 65-200/15 3(.)P 65-200/15 160M
3(.)S(Z) 65-200/18.5 | 3(.)P 65-200/18.5| 160L | 18,5 25
3(.)S(Z) 65-200/22 3(.)P 65-200/22 180 22 30 77
3LS 65-250/30 3LP 65-250/30 200 30 40 78
3LS 65-250/37 3LP 65-250/37 200 37 50
3LS 80-160/11 3LP 80-160/11 160M 11 15
3LS 80-160/15R 3LP 80-160/15R | 160M 15 20 74
3LS 80-160/15 3LP 80-160/15 160M 15 20
3LS 80-160/18.5 | 3LP 80-160/18.5| 160L | 18,5 25
3LS 80-200/22 3LP 80-200/22 180 22 30 77
3LS 80-200/30 3LP 80-200/30 200 30 40
3LS 80-200/37 3LP 80-200/37 200 37 50 78
3LS 80-250/37 3LP 80-250/37 200 37 50
3LS 80-250/45 3LP 80-250/45 225 45 60 80
3LS 80-250/55 3LP 80-250/55 250 55 75 81
* Mean value of several measures at 1m distance around the pump.
Tolerance + 2.5 dB.
Sound pressure level of motor pumps with AEG
503

B Eaana

EBARA PUMPS EUROPE S.p.A.





